Run 4358 mpswise, accO: All
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Run 4358 mpswise, acc0: Beam ON, Laser ON
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Run 4358 mpswise, acc(: Beam OFF

Enilries: 132270

Meari: 10089 +/- 0.0005

Sid Dy 01747 & 00003
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Run 4358 mpswise, acc0: Beam ON, Laser OFF
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Mean: 72399 4- 00014
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(I N N I

6.5 7 7.5 B

B.5

9 9.5




AccO/NAccO

AccO/NAccO

Run 4358 mpswise, AccO/NAccO:mpsCoda, beam ON, laser OFF
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Run 4358 mpswise, AccO/NAccO:mpsCoda, beam ON, laser ON
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Run 4358 mpswise, AccO/NAccO:mpsCoda, beam OFF
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Run 4358 mpswise, AccO/NAccO:mpsCoda, beam ON, laser OFF
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